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Chapter 2.  1, 3, 5, 7

Answer to question 3: Investment in Africa: Food, tree or banks? Trees in Canada grow slower than trees in US. Should we import US trees to plant in Canada? 
Answer to question 7. Is information asymmetry the main reason why you are more likely to make a loan to a family member? Loan, especially a loan with little mechanism to enforce its return, is a big favor. 
Chapter 3.   2, 4, 6
Answer to question 2: Who would issue money? At what cost? The orchard owner, banana grower, chocolatier, have to pay extra tax to monetary authority. What determines the monetary value of each commodity? We might say the monetary value is determined by the market. But it was assumed that there was no possibility of market in the first place.
Answer to question 4: Is check really easier to transport than gold? The real reason is that gold is more difficult to measure than check. The purity is sometimes difficult to assess, especially by non-experts, who are the majority of people. 
Further question on 6: Historically, what is the general trend of the value of money? How about Canadian dollar today? How about US dollar? What is the driving force behind the devaluation of money over time? (Natural resource depletion!)
Chapter 4.    9, 11, 13, 15. 
Chapter 5.   6, 8, 11, 13, 15, 17,
A general question: If market responds to economic conditions well, why we need Bank of Canada of set up interest rate? Does it mean the governor of the Bank of Canada is smarter than the whole market? If that is the case, why we need the market, which is very expensive to maintain? 
6. Selling bond decreases money at present and increase money in the future. Hence the discount rate will increase. 
8. A rise in the price level decreases the real amount of money and hence increase discount rate or interest rate. 
11. The higher expected rate of return in real estate increase the equilibrium rate of discount rate and hence increase the rate of return on money as well. 
13. Just use CAPM, which is much simpler. 
15. Wouldn’t the increase of liquidity increase the price of stocks as well? It is hard to imagine the reduction of stock commission would have a perceptible effect on interest rate. 
17. It is easier to think the reference interest rate becomes higher. 

19. Just use CAPM, which is much simpler. 

Chapter 6.  6, 7, 8, 9, 10, 12, 

Chapter 8.   6, 12, 14
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